

Add or subtract each of the following fractions, then simplify your result, if necessary.

$$[1] \quad \frac{2}{5} + \frac{2}{5} = \frac{2+2}{5} = \frac{4}{5}$$

$$[9] \quad \frac{5}{6} + \frac{1}{3} - \frac{2}{9} = \frac{15+6-4}{18} = \frac{17}{18}$$

$$[2] \quad \frac{3}{7} + \frac{4}{7} = \frac{7}{7} = 1$$

$$[10] \quad \frac{1}{2} - \frac{3}{7} = \frac{7-6}{14} = \frac{1}{14}$$

$$[3] \quad \frac{9}{10} - \frac{3}{10} = \frac{6}{10} = \frac{3}{5}$$

$$[11] \quad \frac{9}{10} - \frac{3}{8} = \frac{36-15}{40} = \frac{21}{40}$$

$$[4] \quad \frac{5}{9} - \frac{2}{9} = \frac{3}{9} = \frac{1}{3}$$

$$[12] \quad \frac{7}{15} - \frac{1}{10} = \frac{11}{30}$$

$$[5] \quad \frac{11}{8} + \frac{1}{8} - \frac{3}{8} = 1\frac{1}{8}$$

$$[13] \quad \frac{1}{16} - \frac{1}{32} = \frac{1}{32}$$

$$[6] \quad \frac{1}{12} + \frac{1}{4} = \frac{1+3}{12} = \frac{4}{12} = \frac{1}{3}$$

$$[14] \quad \frac{5}{9} - \frac{5}{12} = \frac{20-15}{36} = \frac{5}{36}$$

$$[7] \quad \frac{3}{8} + \frac{5}{6} = \frac{9+20}{24} = \frac{29}{24} = 1\frac{5}{24}$$

$$[15] \quad \frac{7}{9} - \frac{7}{16} = \frac{112-63}{144} = \frac{49}{144}$$

$$[8] \quad \frac{3}{4} + \frac{2}{7} + \frac{5}{14} = \frac{21+8+10}{28} = \frac{39}{28} = 1\frac{11}{28}$$

$$[16] \quad \frac{9}{16} - \frac{1}{2} + \frac{7}{8} = \frac{9-8+14}{16} = \frac{15}{16}$$